£3-0jE.

TES717| BErEEO [T

D-SUBAH4E]

20|
(1%}
]

2
43¢

5PORT SOLENOID VALVE PNV SERIES
5XE &2f|0|= ¢

PNV Azi= L
INDEX [spe=

PNV 50 Al2|= 116
PNV 100 Al2|= 121
PNV 200 Al2|= 126 |ded
PNV 300 Al2|= 129
PNV 400 Al2|= 132 | cepe
PNV 600 Al2|= 135 |

Eflzc
A2

Holg 42

2E|
]

2e2A
Al

e

2CA

A

228 10E

ol 22/

32

/N Z=0| [A2317| ol 2=(F0)-P.40~P.462] TRHEIAS| Z:0| = HI=A] 210 FAAIR. | )

115



=,

t’:"ESVIMU
T
22f0jc
I%IE
@ £ 15.5mm
gzue | @ 2 'WEHEE/ (Cv 0.2), REEHHA 3.6mm?
©® X2 AH|T / 1.7W (DC)
@ CHSH i MEEA]
=3 400
oF
ol HE A |'°
A2y
. a2 34 PNV 51 \ PNV 52 PNV 53 PNV 54 PNV 55
HE| DIRE i
iy N LEZ7| 2EY 7tA
AH22E (MPa) 015~07 | 0.1~07 0.2~0.7
mewd|  RECHEN (mm2 (Cv)) 36(02) 36(0.18)
9 & ABRAIRE () |71 50
sumy | SEARE(mo) <20 <35
F|HESYIE (c/s) 10 3
=and 22
| FEzm =
&2 / WES (G (H2) 30/ 5 (8.3~2000)
iaff HSTE il
AHHTY (V) AC 50 / 60Hz 110, 220 DC 12, 24
SISTAS (%) HAFLLO| —15~10
Hofg 42
FUHA| FF () BZ g (130)
AR 7= 4.5 (50), 4.2 (60)
ol WAk PO om
S0 oixt 3.0 (50), 2.6 (60)
AHIF2 (W) DC 1.7
| 2 70 110 120 120 120
MU S 3|2 AC: HIZ|AH, DC: CIO|RE
2HIT
=N = LED
i
gy
2caA
i xO3
FEEA
ot e
229 e HII)\ of
Al HAARRS
L : ME HO|A ¢S — —
B4 L Hai1 ol A @ Uy 7E) 2mxIM 5EE
" 2210 7{4E| YA (o MRIESE|Z )
ol 22l 5 P[S) D\l\j% ?@g A (H_%;IXIEQ_EIE 1) oAl A= SR T2
DL : DIN E{o|'d HAl (I LYEY PNV 51 HAL < M5 PNV 52 AL M5
DS : DIN® Ef0ld #A] (Z, MxI2s3|2 L) s s
2o % DCE Z2|1 7{UlE] YA PSEfRIRt Ql&LICt
7((;73‘7(‘_1%; RIPRZ RIPR2
e 3RS S0y 3EAIM 5EE
3:DC 12V 3EXIN 2 ZE 22 SEX|M ABR T4 3EXM PAB T4
4:Dvav PNV 53 PNV 54 PNV 55
PELI] TgtAl e ne As
1: 48 getols ORI
2: 0 &30l /TRWRJ\ /TT\ /TR'T;J\
-F-% E1
" 27 hoR e
5: PAB T&
3ok|

116



LHREREE U F 229 7jE
A2 &Y 0|=E™
5 —
A B
o
i B
R1 R2  PE
O= &gl=ol=d
L] ]
6
A B
i it i
o114 s
P.E. R‘T P R‘Z P.E.

3EX|MY SRS

6

/

E.

No. g 3 Mo

® 2 ADC-12

@ IAE S0|E Z2[0MIE

©] oAE E2[OME

@ AE 2A20|= - FEDF (NBR)
® b=l EatAl]

® O-RING T2 (NBR)

@ Amz Sus

Y Ass'y =

117

gefl=olc
HEGRI0

D-SUB74EH

£2=0/=
ot
Ya¢s

=3 42l

ol HE
EEE

2E| DIRE
Aelry

H gl

Ejole
EEL

Egzc

A2

H0jz 42

262
AZFHOlES

E=CIES
ARl

oy
2CA
el

ne
=

e

2RYN0E

ol 22

22y

220

Hot|



22 85 = 300 D

=,
bt -
HHSVR10 xI¢E (mm)

™ PNV 51-[0L

spoe | 2IEM B (1)
iy

OJ:E“’NH 69
= 47
T T
=P
: @ | eall
B e LS8l
0| HE
B 10 +EE%
_ 19 2-926 (Push Type)
2E|OIRE

Al

o

”
®
&
(]
300
(@l o))
——
—_

-

H gl

23

20
23

Efi7lo|=
el f
11 2-926 15.5

77

gzc
]

> |m

42.5 M5x0.8
PE ZE

H0jz 42

52
—soe
Egd
QT

5-M5X0.8

Zam ARl 21

oy
2can
L]

wat| PNV 51-]PL/PS PNV 51-[_|D/DL/DS

Za2i0 HUE gl (PL, PS) DIN& E{0|g 24! (D, DL, DS)

2RYR0E

85 IAX.10
PG.7

ol 22

(2= Zol)

53

255
31.5

#20)

Fot|

118



X+E (mm)

PNV 52-[]L -

Z|= BHAL (L) 2afl0jc
Iglg

101
57 Y2y

| =3 42l

W T
1€

0L HE
10 +EE% et
19 2-92.6 (Push Type)

2] oige
ey

|Ad|

i

T
—
7

@]

7y
|
o Y
=
[
SZ4c

:.m
300
(2let o))
fa—)
—
-
i

= | N @
S Q H ARl
o &l §
| Efple
11 2-026 155 B
117.5
Eglze
ARicf
48 M5x0.8
PE ZE Holg 42
F [ |
| B 2
i 5] i AZ00lEd
21 5-M5x0.8
Eaet]
1IN
20}
=t
EEEIN

Al

PNV 52-]PL/PS PNV 52-[]D/DL/DS w

=20 H4E YAl (PL, PS) DINg E{0|g gAl (D, DL, DS)
2RYN0E
ol 2l
MAX.10 130 PG.7
(2l=M o)
133 = 300 — a2y
[] [P
— [ r 0|3 A Agix|
= = | 1) P = = | <2
o |
w| M|
H— olo o & — ole I eI
2
Fotg7|

119



=,
bt -
HHSVR10 xI¢E (mm)

| PNV 53/54/55-[L

spoe | 2IEM B (1)
iy

61 50.5

o3 wy 39 28.5
2 i | Y @] | ol

[ -
ol HE
Ay 10 FEEE

19 2-92.6 (Push Type)

2| DiRE

Al

”
®
Pj:lm
bj@
= 300
(2l=t o))
{
—

o

H gl

20
23

m* B &
Eglole [
Al

Al 11 2-02.6 15.5
128

Egzc

A2

345 24 M5x0.8
Hofg 42 PE ZE

— F )
=
GERT | 2 o

21 5-M5X0.8

G

[Ea]

oy
2can
L]

wat| PNV 53/54/55-]PL/PS PNV 53/54/55-[ 1D/DL/DS

Za2i0 HUE gl (PL, PS) DIN& E{0|g 24! (D, DL, DS)

2RYR0E

ol 22

@1z 2lo)) MAX.10 755 65 PG.7
22 77 66.5 =300 ‘ ‘

31.6
53

25.5

#20)

Fot|

120



afl0lc
HWHSVRI0
R
2afl0jc
I%IE
@ = 18mm
@ = g2k / (Cv 0.53), RECHHE 9,5mm? ygus
@ X2 AH|T™ /1.7W (DC)
@ CHSH i MEEA]
3 420
Al'g; EE\IE}E:IE
st= 34 PNV 110 ‘ PNV 120 PNV 130 PNV 140 PNV 150 Fies
A2 AZT|, 2N JtA
AFEe3 (MPa) 0.15~0.7 \ 0.1~0.7 0.2~0.7 s s
QEEHH (mmz(Cv)) 95 (0.53) 85 (0.47) -
Z9l U AIZRAI2E (T) |7 50
SEAIZE (ms) <20 <35 H AR
Z|HESYIE (c/s) 10
=27 i EfjolS
AIE\H
S5 X% 24
iS4 / MES (G (Hz) 30G / 5 (8.3~2000) -
S YERE b
FA™ATY (V) AC 50 / 80Hz 110, 220 DC 12, 24
S2HAHS (%) MLl —15~10 Hofg 42
FUMH| B2 (T) BZ Aig (130)
mjAEEe 1S 5 (50), 4.2 (60) 26|
iy AC ]
VA (Hz] Ofx} 0 (50), 2.6 (60)
AH|HZH (W) DC 1.7
125 E A
2 (o) 100 100 \ 160 \ 160 160
MRHUESS|2 AC: HI2|AE{, DC: CiO|2=
e LED Zﬁé
[l
e
=DO= ARl
FEEA
ot 4l
T .
- HHALAFRF 22 20E
=7 1 ME Hjo|A g2 -
HHLW 7 P | S5 P1AE) o (t Ly 72 RIS
Re(PT) 1 PS : 52|71 7{ullE| diAl (MZ MX|2S3|2 LHE) — = o b
c(PT) 1/8 D : DIN®! £fnj BiA] (£2) Exd Az mxEE oy 220
DL : DINE E{0|S HHAl (B4 LYE PNV 110 ** PNV 120 *=*
DS : DINS Ef0|2 &4| (HZ, Mx253l2 W) As se
* DC8 B2f1 Al waie psereiet gauc. AN TkID [\ [ew 22l
1:AC 110V
21 AC 220V 3EX|M 5EE A A
3:DC12v SEXIM 2 HE 22 | SEX|MABR T4 3EX|M PAB H&
4:Dv2av PNV 130 PNV 140 PNV 150
TiStaAl Ae As Al 43 9t
1542 g0l CATZILINAG | AATITTITAS
2GS 2efzol= /*JILT\ /wm /HJ\
3:2ILEEE "
4: ABR & B2()
5: PAB ®&
3ok|
121



=,

HZ"ESVWU
DB

L2z0)=
i
Ya¢s

=3 42

ol e
A

2 oiee
ey

e 4

m

H gl

Ejols
=L

gzc
]

> |m

H0jz 42

=S
ARl

b

2CA

i

2t g2

2RYR0E

ol 22

22y

#20)

Fot|

CiE £2=0|=E9

PE.

R 3

R2

PE.

L

122

B
TR

PE. R P R2 PE.
No. g 3 MOE
@ 24| ADC—12
@ oAE Z20|E Z2[0MIE
® oAE E2[0MIE
@ S A20|= - BEDF (NBR)
® A= 7 EatAE
® O-ring SAHT2 (NBR)
@ Amal Sus
2Y Assy -




X+E (mm)

PNV 110-[]L T

Z|= BHAL (L) 2afl0jc
g

87.5
65 Y2y

=3 42l

13
3|
@

e
[ala]
1

(N —

2-9 3_A/ 17 AERE} EE\I;}E:IE
35 (Push Type)

2E] D&
A2l

35 2-034 =

300

28
25
21
1

H 42l

Egblo|e
27 ARl

95

Efizc

gl

61 M5Xx0.8
PE == g

— 1‘ ‘ H EE]
<) o AZ00lEd

5-PT 1/8, 27.2

E=CIES
ARl

02
2cala
EEL]

PNV 110-[_]PL/PS PNV 110-[_ID/DL/DS e

Za2i0 HUE gl (PL, PS) DIN& E{0|g 24! (D, DL, DS)

2RYN0E

ol 22/
101.5 IAX.10

(2l=M Zol) PG.7

103 = 300 —

22y

o]
]

29
48
55.5

220

Hot|

123



=,

HZ"ESVWU
DB

L2z0)=
i
Ya¢s

=3 42

0| HE
A

2 oiee
ey

H gl

Ejols
=L

gzc
]

> |m

H0jz 42

0y

2CA

i

2t g2

2RYR0E

ol 22

22y

#20)

Fot|

il#—E (mm)

PNV 120-[]L

Bl=M WA ()

PG.7

120
76
e | D] 3l
LIS N A I —
2793_4/ 17 SR
35 (Push Type)
35 2-03.4 =
oF N
4 | I
i,\g 7 ] g
136 18
67 M5x0.8
P.E ZE
ﬁ——‘ | E) /
HO> A .
H—, | D ‘ B,
5-PT 1/8 27.2
PNV 120-[]PL/PS PNV 120-[]D/DL/DS
=20 H4E YAl (PL, PS) DINg E{0|g gAl (D, DL, DS)
MAX.10 149
(21=4 Zo)) 7
152 = 300 ‘ ‘
' ] B
— 5 ® — o -
L L] & — ® ® —

124

48
55.5




il#—E (mm)

PNV 130/140/150-[]L

2l gA (L)

73 60
51 38
ifE7 | MY o]
[ PN R I —
[
2-93.4 17 At
35 (Push Type)
35 2-53.4 B
of N
| ! L
® Y s L
136 18
46.5 335 M5x0.8
PE. ZE
e e S
V** S @ ‘ \_l'——_g
5-PT 1/8 27.2
PNV 130/140/150—-[_IPL/PS PNV 130/140/150-_1D/DL/DS
=20 H4E YAl (PL, PS) DINg E{0|g gAl (D, DL, DS)
(2l=M Zo)) MAX.10 87.5 74.5 PG.7
89 76 =300 ‘ ‘
® ® a D D - pe

125

gefl=olc
HEGRI0

D-SUB74EH

£2=0/=
%'E
Ya¢s

=3 42l

ol HE
EEE

2E] D&
A2l
30 4

H gl

Ejole
EEL

E2C

A2

H0jz 42

2ef2l
AZHOlE

ECA
Al

0y

2EA

Al

EI

2RYN0E

ol 22

32

N AR

220

Hot|



280l
HWHSVRI0
DamiE
20l
I%IE
@ = 26mm
yzes | @2 'WEEE /(Cv 1.0), FREEMHE 18mm?
@ X2 AH|TZ /1.8W (DC)
@ CHSH i MEEA]
R
e o
k= | M
woe| gs Al pwv 210 PNV 220 PNV230 [ PNV240 | PNV 250
- Argsl FESTTIETY PN
| AreeE0epe) 0.15~0.9 0.1~0.9 0.15~09
e e
REEEE (mm? (Cv) 18(1.0 18(1.0 14408 | 14408 | 14408
Z2 2 A RHIRE (') %1 50
& | SEAIZH (ms) <30 <50
Z|HESYIE (c/s) 5 3
£ =a 22
| == <84
e | WEZ/ WIS (@ (H2) 30/ 5 (8.3~2000)
F] HERE [IEaEES
FUHZAL (V) AC 50 / 60Hz 110, 220 DC 12, 24
wEsn|  2EMSX (C) <45 (FZEY 2IT))
SIBHAHS (%) FATeLo| ~15~10
=6 UM FF () BZ Alg (130)
A0/0le] [ c Jl= 5.6 (50), 5.0 (60)
VA (50Hz) IRt 4.5 (50), 3.8 (60)
Bl IPTEERY) DC 1.8
2 (9) 70 120 120
fj;‘é MR SS|= AC: HI2|AE], DC: Cl0O|2=
- o LED
oA
2caA
|
XS
FEdY
e
me ENV.2 10 =1L
§ L:alc y
ol 22/ H R AT D DINfoj £ 2HX|M 5EE
Re(PT) 1/4 DL iDNg E ) Tommmaz 2mAN Ci
(@, A PNV 210 5% | PNV 220
purllic) A B A
14 A% ikl _
1:AC 110V — —
21 AC 220V SRl s
3:0DC 12v 3EAM S ZE 22 XM ABR 2 3mX|M PAB T4
PELIY 4:DVaav PNV 230 PNV 240 PNV 250
HghAl :
1142 23wols
w2 2: O3 Sef0le \ R /T A k
3:8ZEESE _
4 : ABR T
5: PAB T4
3ok|
126




No. g 3 M oA
@ 25 ADC-12
@ O] ADC-12
8 @ A= ADC—12
@ U 25| E2|otME
S ® 2z Zajopuet
® oAE Z2|0bMIE
@ AE YR 0l - FHDT (NBR)
® A Assy -
8
5
? (@]
8
5
PE.
il—?—E (mm)
PNV 210-[_]L PNV 210-[]D/DL/DS
2= BHAL (L) DINE E{o|'g 24! (D, DL, DS)
%8 121 _MAX.10
72 72
S IP= 2 s el oK 2N v
f 2] f AL N
9—043 ﬁo sExa 2-043/ |10 SExat
23 (Push Type) 23 (Push Type) PG.7
305 = ﬁg 3 ﬁ ﬁ . )|
. &l 305
TIT ) "‘ﬁ%’ ] ngz Qg
8l 2 H i g2 I ]
” l\—&(%); $ Lﬁ ° '\-t ‘ % 4@
t
205 | \2-043 23 ‘ 205 | \2-043 23
‘ 26 110 | 26
615 M5X0.8 61.5 . M5x08
‘ PE =E | /PE=E
- | B UERE ‘
IS :NEA ! Van g m
rx‘iﬁ : i a | '\Y DS Y ‘
‘ ‘ 3-PT 1/4 36 2-PT 1/8
3-PT 1/4 36 2-PT 1/8 (P, A, B ZE) (R1, R2 ZE)
(P, A BEE) (R1, R2 ZE)

127

gefl=olc
HEGRI0

D-SUB74EH

g0/
%'E
43¢

=3 42l

ol HE
EEE

2E] D&
A2l

H gl

Ejole
EEL

Egzc

gl

H0jz 42

263
A=0olef

E=CIES
ARl

LT

=N

Al

EI

2RYN0E

ol 22

32

220

Hot|



=,

Be5R1D RIS (mm)
D-SUBHE |:|
spoe | 2IEM B (1)
Igg
135
gz 83
T: ~ ol
Al FY = o &
2-043/ |10 »Ex5
2@5'5 |23 | uch Type)
—o
2 nige ﬁ 73 68 » ﬁﬁ
ARl S D\J F‘E&.
e o Lg
2 e H L 9
2l e 2
EIE 62 . 2-M5x0.8
e N \ PE ZE
T e =
e | e &
] | T /e R
3-PT 1/4 / 36 2-PT 1/8
(P.A BHE) (R1,R2 ZE)
Hofg 42
26f2l
5000
=01 PNV 230/240/250-[]L
2 =M BHAL (L)
=N
2lef
154
DI-;H‘:-‘\J 103
zaa‘— 2-043
ol Al ‘*“3 ‘o‘ ‘ [
wa| TS AR
3-PT 1/4, 10 SEXRE
22 0 (P, A, B ZE) ’23‘ (Push Type)
=)
ﬁ 93 ﬁg:”j ﬁﬁ
220 | il L
g e —
8
22 & Ll
‘20.5 2-043 23
179 26
e
715 M5x0.8
PE ZE
Jep ﬂll!%“\”\‘ J&
147 %R 7
36 2-PT 1/8
B2() (R1, R2 ZE)
S|

128

PNV 220- ID/DL/DS

DINg E{o| €Al (D, DL, DS)

181  MAX.10
83
o Tl Lo E )
LY T ]
2-04.3/| 1q | SEXL
7_&7 (Push Type)
2-PG.7

B
7
I
e |,
L w
1
35
66

20.5] 3
159 26
62 2-M5x0.8
P.E ZE
~
i S o o 5] @
BUIL 7 2
3-PT 1/4 36 2-PT 1/8
(P, A B EE) (R1, R2 ZE)

PNV 230/240/250-_1D/DL/DS

DIN E{o|'g &4] (D, DL, DS)

201 . MAX.10
103
2—04.
[ A]® o |
S o e ¢
3-PT1/4/ |nd| et
(P.A BEE) |p3 (Push Type)
2-PG.7
o] 93
J N*Tj 4 (
‘gg@‘ \-04.3
179
715 M5x0.8
PE ZE
B I e e o]
BLIT W17 R[]
36 2-PT 1/8
(R1, R2 ZE)



afl0lc
HWHSVRI0
‘i = BETZEE
( e : ?QME
@ = 32mm 0> -
@ = WHE2t / (Cv 2.5), FEEHHE 45mm? 2 & :M“ oy
@ X2 AH|X= / 1.8W (DC) -
@ CHSH i MEEA]
3 420
o
AI‘ <:': OJL HIE
A
5= 4] envato PNV 320 PNV330 | PNV340 | PNV 350 s
e UEE7| 2BE A o
AF22I21 (MPa) 0.15~0.9 0.1~0.9 0.15~0.9
QEEHRIE (mm? (Cv)) 45 (2.5) 45 (2.5) 36 (2.0) \ 36 (2.0) \ 36 (2.0) sae ey
2 Y ABRARE (T) |3 50
SEAIZ (ms) <30 <50 a1 4
Z|hEESEIE (c/s) 5 3
2% 22
Efi7lo|s
+5 =%t EEAL BITA el
&2 / WS (G (Hz) 30/ 5 (8.3~2000)
H57x hialies Shas
FU™AFLL (V) AC 50 / 60Hz 110, 220 DC 12, 24
2EMS3| () <45 (YT QI7IAl) ‘
o
SHEYES (%) H2RI0] —15~10 s
FARA| B2 (C) BZ g (130)
mArdE 1S 5.6 (50), 5.0 (60) &%}OIH
= AC
VA (Hz) Xt 4.5 (50), 3.8 (60)
AHIF2 (W) DC 18 -
= (9) 350 450 550 550 550
MX|FE S 5|2 AC, DC : H}2|AE] —_
ik LED a2y
=0
X035 Az
ZESA
ot 4l
HT‘I AFOF R NE
- fAtALRE
- L:2leN g —
HEESTE D : DINE Efo] 24 (25) R
: DINS! E{0|S Sial (= Lhzy "
Rc(PT) 3/8 DL IO Eﬂg g (B2 ) oAl A= SRl o ol 22l
(M, MRIES3|2 W) PNV 310  zauu:erae PNV 320  =aunieras
2
2% AG 220V 3= s2e e
3:DC12v 3EAM g HE 22 3EAIM ABR T4 3TN PAB T4
4:DVadvy PNV 330 PNV 340 PNV 350
FSEIION| 8 A 43 HAH
8 A B A
1: 43 gelol rsBH IS
2 G2 a0l ALl Al Ll
3:2mE == : ;
4% ABR T4 =
5: PAB T
3ok|

129




=,

HZ"ESVWU = = Ho

WEREE Y £ 29jo] K
T N _

e EX ==} No. o 3 I
230jE 0] 25 ADC—-12
[T=]

- B A ® OfEHE] ADC-12
|i © ® olle 71 ADC-12
g " @ el =3 EENE
|E ® IHUE 7{H E2[OMIE
=
w24 R ® nAE Z2lomE
@ AE UZ0lE - YT (NBR)
A 5 YU Assy =
wee | o Adol=H =
= 0
_— &
R H B\ | A
e £
Rizd
H AR PE. R2 P R1  PE
3EX|M SZHHXIH
AEISQO\E 7
B
ey * :
5
Hofg 42 = | l&] | |4
PE. R2 P R1 P.E.
26l
]
X|Z=E (mm)
e
« | PNV 310-[]L PNV310-[_ID/DL/DS
B 2= BHAL(L) DINE E{of'g &A! (D, DL, DS)
;Igﬁ 134
T 108 = 1565 MAX. 10
e < oD, T
« AN 3 L D . &
27'3443; 28 SEXE 4
22y NE 44 (Push Type) 2-p4, 28 ( jﬁfxﬁ;e)
44 U M
—~ PG7
103 S 108
ol 22y 48 3-049 ﬁ ) nfﬂ = 40
™| X — o4,
2]
o i = T E
a2 ipmE . b 2
4 4\ o = ] N L
<! - L
A A ‘.1. o | )
146 | — 146 '—-32
A3 94 92 M5X0.8 92 M5x0.8
= PE ZE PE ZE
R2 P RI P RI
RN s e
s YK VS
52 5-PT 3/8 52 5—PT 3/8
3ok|

130



il#—E (mm)

PNV 320-[]L

Bl=M WA ()

171.5

N
855

(Push Type)

F |
L

i
]
1955
88 2-M5%0.8
PE ZE
A TLA A A T 1
L1V ¥
52 5-PT 3/8

PNV 330/340/350-[]L

2l gA(L)

189
137.1
77.3 59.8
PN Y ] i jﬂ
S el B
2-943 28 SSEE
44 (Push Type)
=)
ﬁ 3-94.9 N
——hy
o M Q|
< (9|
% ¢
‘ 27 | Y
213
105.5
61.5 44 2-M5x0.8
PE ZE
Tl 1A A A
52 5-PT 3/8

PNV 320-[ ID/DL/DS

DINg E{o| €Al (D, DL, DS)

217 MAX.10
1195
g T | AL, i
L7 YL AN Pl R
2704y || .28 | +EX5
44 (Push Type)
3-049
109.5
3-049

s

‘27 ~1

195.5

88 2-M5x0.8

PE ZE
S-S Gr T

W Y ]

52 5-PT 3/8

PNV 330/340/350-[_ID/DL/DS

DIN& E{o|d 2| (D, DL, DS)

(Push Type)
2-PG.7

A LR
|27 N
213
105.5
61.5 44 2-M5x0.8
PE ZE
A THIl (AR A *‘\m
A L K|
52 5—PT 3/8

131

gefl=olc
HEGRI0

D-SUBA4Ef
u-iau:mz
Ya¢s

3 A2l

ol HE
EEE

H0jz 42

2ef2l
AZHOlE

E=CIES
ARl

0y

2EA

A

EI

2RYN0E

ol 22

32

N AR

220

Hot|



S0l
HWHSVRI0
DB
L |
e - Ty
® é‘OI""A‘I = ==
gz | @ FETHHE 80mm?(Cv4.44) =
@ X2 AH|X= / 1.8W (DC)
© CISH Hij MukA]
3 A2l
OF
| 2t
wnes | at= 4 PNV 410 \ PNV 420 PNV 430 PNV 440 PNV 450
A2l
| uesa EE7), 2UY 1A
Argerat (MPa) 0.15~09 | 0.1~0.9 0.2~0.9
S| oscieim (mm? (Cv) 80 (4.44) 70 (3.89)
=9 Y ALRSAIRE (T) |7 50
Hagr | SEAMZ (ms) <40 <60
A|H=tSYIE (c/s) 5
eoppe| 29 29
# rEza 54, BlRA
MEZ / WS (G (Hz) 30 / 5 (8.3~2000)
Eg2C
w5 | wswx T
IANATLY (V) AC 50 / 60Hz 110, 220 DC 12, 24
wesy| SISHEAHS (4) FzRetel -15~10
[UFEHA| FF () BZ &gt (130)
2 | TAE ac |28 5.6 (50), 5.0 (60)
eFHoE | VA (Hz) oixt 45 (50), 3.8 (60)
2|2 (W) pC 18
sugy|  FE (g) 830 870 \ 880 \ 880 880
ME|H =552 AC. DC : H2|AE]
2CA o LED
ey
oy
2CgA
e P
ZESA
ot el
Z2e| 201 T
= B AAfRS
= L :2ls ga —
B ESTE D : DINE E{0] %Al (52) 2l 5mE
" :DING] E{D| S SA] (R Ly —
o 22 Re(PT) 1/2 D& :DNG Elnlg gy B= 1 2mRIM A 2mAIM o
(M=, MXIES3|2 LHE PNV 410  zauw:reriz PNV 420  waun:erire
22 ANk e\ [k
HEY
AC 110V
w235 3 iAS ey aZx|H 5EE
3:DC 12v 3mAM g HE S2 3EXIM ABR T4 3m|M PAB T4
4:0Dvaav PNV 430 PNV 440 PNV 450
43 A TskaAl o L b 4
1: 43 gaols ‘ rsMIEITASN
2: -1 490l T\ Lol T\ L /T ® PR
) 3:2mE ==
i 4% ABR TE
5:PAB H2
3ok|
132



gefl=olc
HEGRI0

DB
_¢_ S =
SR | L= No EIE W
BIOXE) @ 25 ADC—12 gaoe
L @ OfRHE] ADC—12 =
ﬁ ® oll= 7t ADC—12
: I = @ s 25| ERE: gz
, = ® n2U3t e Zalobg
% [ =2 B ® oAE E2[0tMIE 3 400}
@ AE U200l - FHDF (NBR)
T Assy — ol E
Al
©— | © #o|A ADC—12 a2
5
RR_ B P A RI 2 e
el
A _
HE &alo|=H e g
| 7
o = A
8
= ER : = Egjole
el
5
@— | Hofg 421
R2 B P A R1
263
]
K| (mm)
E A
PNV 410-[JL PNV 410-1D/DL/DS -~
2= ghal (L) DINE Efo|d &l (D, DL, DS) 2
2-065 12;)4'5 177.5 [ Maxio o
ﬁ : 2-965 128.5 Az
| = TN 83
@l s [~ o — . e
v v o ok
= & o s
~ 208 R0l
il oA z=gxe
S o PSS Loela X
f (Push Type) R P Rl >SXE
4-M5%0.8 f (Push Type) -
4-M5X0.8 oy 224
- PG.7
1235 =
- | 5 1235
6 ‘ =T % e
21 U]
‘ ‘ ul
4 o 3 ‘ ‘ o
M = i B o
N ik < T H © MK AZK|
8 D D 5 DD i~
— ©
64 o
5-PT 1/2 95 5-PT 1/2 95 2
166.5 | 166.5
0]

133




=,

&
HHSIRI0
D-SUB74Ed
L2z0)=
%'E
Ya¢s
=3 42
ojy HE
A2l

o njee
Al

H 42
Efple
ARl
Egizc

A2

H0jz 42

)
EEIN
2]
ot Az
2RYR0E
0l 32

T2

N AR

#20)

Fot|

il-JFE (mm)

PNV 420-[]L

2| M HEAL (L)

= o=

177

125

83

70

J | "
8 d Y D D
5-PT 1/2 gg

PNV 430/440/450—- 1L

2lEM gA(L)

70

‘ 177
125
2-06.5 83
5
@ Y 17
i @ | @ i ?
B +Ex%

4-M5X0.8

(Push Type)

300
(2l=M Zo))

d | i
814 ; DD

134

PNV 420- 1D/DL/DS

DINg E{o]< grAl (D, DL, DS)

MAX.10 2225 ‘
2-065 125
83
|
@% T a R
S i
< &
) A
1= @;f% AEXE}
:
ssxog P TR
2-PG.7
115 :I[H
L1
r) = e
E: HIH T

36

D00
5-PT 1/2 gg

PNV 430/440/450-[_1D/DL/DS

DINE E{o]'g &4l (D, DL, DS)

MAX.10 2225 )
2-96.5 125
83
[l I— v
S $
1= AN AE XA
! (Push Type)
4-M5x0.8
2-PG.7
T 115 :]H
| |
fe} - E
B HH

36

2| )
64
5-PT 1/2 95
201




e
HHIVRI0
£
y DBt
PNV 600
. . Sy g0
- e -
© A30[7iA 2 W 2 e
© FSEHHZ] 90mm*(Cv5.0) e — gz
© CIASH HHMEA
&2 4
o
AI‘ <:': 0L HIE.
Al
s= S84 PNV 610 \ PNV 620 PNV 630 PNV 640 PNV 650 e
A YET7|, BEY A e
A8 (MPa) 015~09 [ 01~09 0.2~0.9
[ECHHE (mm? (Cv)) 90 (5.0) 0 (3.89) e 2
F2l H A BRA2E (T) |7 50
SEAMZ (ms) <30 <50 a1 4
Z|HESYIE (c/s) 5
2% 22
Ejole
+5 =% =24, ST w2
&2 / WS (G (Hz)) 30/ 5 (8.3~2000)
233z YEFE iaff
Fgzzse (V) AC 50 / 60Hz 110, 220 DC 12, 24
SISHAHS (%) F2EA -15~10
0 42
FYUAS| 5 () BE &9 (130)
Az 715 6 (50). 5.0 (60)
VA (Hz) e 2Ef|
2 oixt 5 (50), 3.8 (60) Azl
AH|FH] (W) DC 18
22 (ko) 1.17 1.2 1.22 1.22 1.22 um
Mx|HE 53|12 AC, DC : HZ|AE]
2HIT
22 LED 2o
e
Lare
X035 Az
Z2SA
e
EQ T VL B MRS s2mE
- L :2EN ey
S PN D : DINE E{0|E SAl (BZ) 2EX|M 5XE
: DINS Ef0[2 ShAl (I Lyt .
Re(PT) 3/4 DS | DNG Elold x| (35 Aessiz ) omAi oz 22714 oz o225
PNV 610  zauu:erae PNV 620  waun:erae
6 a 5
ze\[[]/kw e
R2 PRI R2 PR
YAHY
1:AC 110V
21 AC 220V 3EXM 5EE AN AZ|
3oy SEX|M g EE 22 | GEAIMABR &% 3mAI PAB T4
PNV 630 PNV 640 PNV 650
FSEIION| B A 43 gAH
B A B A
154 gato ORI
b Y| 12 ML ALl
3:2mE ==
4: AR TS w2
51 PAB T4
Hot|

135




=,

HesiRio
EREE W FQ 29
T _

e EX ==} No. 2 I
a0l ® 25 ADC—12
BH)
= @ Gl=l=] ADC—-12

® = 7 ADC—12
s | @ 2 =5 =ajopet
mjfrﬁ# \ ® 2 7 E2lop
3 42 i ® A= Za|opE
= o @ AE A20lE - DT (NBR)
Ol HlE Y Assy =
e ) HlolA ADC—12
2E| DIRE
ek ‘ R2_B P A
sy 2 49|0|=™
A = =
Efj0|E 1 jia)
el i ]
Eg2C
roy D
0 @—| @@ @
‘ R2 B P R1
22|
]
X|$E (mm)
e
| PNV 610-[IL PNV 610-JD/DL/DS
s 2= BHAL(L) DINE Efo|d &l (D, DL, DS)
. 1545 1775 _MAX.10
EEAN 1285 1285
AlRic] 83 83
ot Al EI v v gﬂ
‘ ol [
i &l A
Q
225 e o | o @ 8 b
sszat/ - % o SEz%
_ (Push Type) } (Push Type)
o4 224 4-M5X08 AVEX08
PG.7
el 1235 S 1235
66 of ™
S|z
Il Il Eﬁ E Il - 0
o R 2 i :
% S
43 A4 ™
g g
B SPAY AP
N
w2 69
5-PT 3/4 105 105
166.5 166.5
3ok|

136



il#—E (mm)

PNV 620-[]L

2l gA (L)

‘ 17
| 5
2-065 8
|
3 v @7
&
8
G ST
: . sexn

(Push type)

4-M5X0.8

15 g
. J I .
o (]
iE DD
69
5-PT 3/4 105
201
PNV 630/640/650—- L
BleM gl (1)
| s
2-065 83
“’i v
&
o AT Tl
® Eﬂl j Lﬁﬂ
@ T@ T ASE XKH
I " TPush type)
4-M5X0.8

40 |
T

—

300,
(2l=4 Zo))

<
RI /
69
5-PT 3/4 105
201

gefl=olc
HEGRI0

D-SUB7E!
PNV 620—-[_|D/DL/DS
DINg Eo[g &l (D, DL, DS) g0
MAX10, 225 )
126 —
2-965 83 EEE S
|
&?} e v g *
@7 3 A2l
o AN g 1l
“ —J&JH oL
L e
} (Push type)
. 4-M5X0.8 ggaﬁ
Il Il
8 HIHE :
@ JDJ H e
Elgﬂo\s
o v
T EDDOD
5-PT 3/4 WZZ zﬁg
201 |
Hofg 42
Ao
PNV 630/640/650-_1D/DL/DS
DINE E{o|d g4l (D, DL, DS) -
MAX1Q 2225 ZoaA
15 =L
nlzwﬂii
el
8 ot ey
= » “
f B2y X0E
2pe7 4-M5X0.8
0L 32i
I 115 f H
0 i i = 22
LI
= A A%
s q] g} g}
43 HAH
69
5-PT 3/4 105
201 | =2
0]

137




